FUNDAMENTAL QUESTIONS-FOR SURE SUCCESS 2018 SSLC

1. ®oeeQss MuaIImE c@em'loe;g@s allsEove af@lafload

Write the missing terms of the AS

b. ) e , 17,22, 27
Co roeerennnn , 31,38, e

d 24 , ... , 42

e. 24 , ... ) e , 4

2. 800 alBo 84, HAI®AUMPM. -3 @YX BT MVRITME CWREMI af)gD@d>. Write an arithmetic sequence
with first term 84 and common difference -3.

3. 12,17,22, ... .afam qURMmE CWeMIQes oleaoesmd 19172 . Is 191is a term of this sequence ?

4. 7,11,15,. .. .af)m qURIMmE CURHMIWYOS af)@ alemdem’ 127 ? Which term of this sequence is 1277
5. 7,13,19 . .agam cvaomeewasmiQes 10, 17 agam] a1eesud &oemde: . Write the 10" and 17" terms
of this sequence.

6.2,9,16 . . .am LROEEUDMIQYES NILUEMI@AIORD (N @Yo alBo)? Write the algebraic form
of the sequence ( nth term)

7. @REE®OD 15 0B MVEUB:SHS DHOWM? 65 MV.aldaese®d? What is the sum of first 15 natural
numbers ? What about first 65 terms ?

8. 8@ MVRIMEEUHMIYSS N @Yo alBo 3N + 7. @AY alBo ,EaNDANMPMV. , 7 @Yo alBo dhoemd: Write
first term , common difference , 7" term of the arithmetic sequence with n th term 3n + 7.

9.8@ MLRMEEWDMIWYSS ILUWEMI® @al , N - 5. @YEY alBs ,eald@AllmyPTV. ,10 @R
alBedoemd:. Write first term , common difference , 7" term of the arithmetic sequence with algebraic form ,
n-5

10. 8@ MLRMMEEWHEMIYSS N AlGEBREOS Db 2n2+3n. @B} alBo ,eald@AlmPM. ag)m ? The algebraic
form of sum of n terms is 2n?+3n. Write first term , common difference.

1. (2,3)agam enilazall@d amlan’ 4 Qemly” eoe:ealQss 4 Ul GRSWIBEN T . BRAIQE'S

Y2l MUY UB af)g@d. Mark 4 points which are equidistant from the point (2,3). Write their co-ordinates.
12. @RWoEMIM eH@RI] 3 6.l @REOMIB B@3 YT QUOLJIT @D GRBHUBREOS EUEMEIEBM
em'krgcemgs)s Myaldh My Ud a@q? If a circle is drawn with origine as centre and radius 3cm , write the co-
ordinates of the points where it cut the Axes.

13. P(2,7) , Q(8,15) agy@sl@d PQ alled dilg. , ai@lal’, awnilaz agarlar aoemed. Find the length, breadth ,
slope and centre of PQ

14.6m Qomomlen apruoBled @OWEBBEOS (MYaldTosuidad6m (-1, 2) , (2, 6) apavlalL Qo ooy
@R@o , (Mo ,AUPTVOEBIEOM al@lal agarlal oemed. The co-ordinates of the end points of the diameter of

a circle are given above. Find radius , centre , slope of diameter.




15. X% - 3x2- X +6. O@IOM X-2 OIENE aN@|40@ YBloHo o) ? O@OMD aISH@eeMo x-2 ? Find the
remainder when x3 - 3x2- x +6 is divided by x-2 . Is it a factor ?

16. x* +x -6. O@NOM X+16H:06ME 0@ 210@8 WBlaydo af)W ? D@D caISH@oceMI x+17? Find the remainder
when x2+x -6 is divided by x+1. Is it a factor ?

17. P(xX) 8@ enugoalcaoem’. P(1)=0, P(-2)=0 , P(0)=0 ag)®»@3,221s&6B03 agu?P(x) is a polynomial, write
its factors from above facts.

18. 2539/ @61 af)EIRM MVEUBHBOS YeMManLle 42, EENZIe HM MAANIB:Y @alle:Elesd. The sum
of two consecutive natural numbers is 42. find the numbers.

19. @SB 4/QO PN BY MVEUGBOS YMMantle 63 , M2 SO MVRQIBY @alle:cless. The sum of
two consecutive odd numbers is 63. find the numbers.

20. (mm)'l%gg MLRQIBEEREIE Mmlom’ b?-4ac so6mes. Find b*-4ac from the equations. a) x? - 8x+10 =0
b) x2 -8x-10=0c)2x?> -x-5=0

21. @069 QS BIEESOS CalOOEDD:.

aldBAES b ,al0@wles € , alBloj@ o= |

@OEo I, O h , (M BRSWIBE|STD S

Write the names of above figures. Mark base edge , lateral edge , slant height , height , radius .

22.6@ 6aIglollod 988 15 1@ H:Elod 8 ag)sfho JQIMMOIET . @EMSs] BHAMNSOMIT QUMD GRHUITOSES
MLIWIOHWOD) ? @RYUIMBlEHIMES MLIWIme ?0ne box contains 15 balls out of which 8 are red
.Without looking a ball is taken. What is the probability that it is red ? Not red ?

23.8@ 6aIglolod 8 5JIM alg®HUB 6 algl al@&U8 96ME.26Q0@3 ealFIRE3 10 4JAIM T8 4 alg
AIOHUB. HEPS o] B@ aly) al® afFEEMo. aB® OISO WM’ agGHBBMDMIET MY ? E6NE OalSld:eo
BMIBIIT MIW® &gend?. A box contains 8 red and 6 green balls. Another box contains 10 red and
4 green balls. If one green ball is to be taken at random . Which box has a better possibility? If all the balls
are combined what will be the chance ? Wil it increase ?

24. 83006805 20 @3 ®IOPWSS BT V6 alOWIM @RYNIUBYRAIFTE. @P® @ @PEITWYTVE) GR)EHINOSS
MLIW® o) ? A man is asked to tell a natural number below 20. what is the chance that it is prime?
25.68@ 6a1glall@ 8 4JaIm alm® 08, 6 alg] aIT®H:UD , 26QIM HaISIVIGE 5 aly] alg®EUS ,7 gjaIrm

Alg® 3. E6NEI@BMIMe  BICEIAITDEUB afSOD ERIIQIERIQIM af)(@ CRIWIGUWBHUB  DEMRIENI?
@6MZo ala|MIOPBS )@ GLOWIEUB ce:;]%o? @R@IM8E MLIWI® ofam ?A box contains 8 red and 6 green
balls. Another box contains 5 green and 7 red balls. One ball from each box are taken and paired. How
many pairs will be there ? In how many pairs both are green ? What is the probability ?

26.06 ealglallenal 19@@ 5 e af @I &SITY Gala|Qdud eoglelesme. @eEladmlmonowl
63060300 QMo afSOMITI af)(@ PEMRER MoEUBHUY DENRIEHI? @IS @OENEERUY &:SIWITD

7 &1500088 MLIW® g ?. Two containers are filed with paper slips each written with one of the

numbers from 1to 5. If one slip from each are taken , how many 2 digit numbers can be formed ? What is




the chance that sum of those pairs gives 7 ?

27. edoemdud 307, 60°-,90° @ ag@lemiemamle QIUEBBSEE'S. BRURENIMWEHAND) ?

G@oeMmdUd 45° , 45°,90° e dle@ew?

@IOY AlOQMM MVIaN.aIEYe Alledl@delesm alcg) al@. uesss.. Draw rough figures based on the
following facts.

28.5m mlsges 6@ agem] 8@ adilalcd anclalildleame. Gr@IOM PosQe aa@maows] 42° ¢Ho6end
oemogsmo. A ladder 5m long is leaned against a wall, making an angle 42° with wall.

29.60003 BGEOB®IISOTIOM PorudEIV. 45° AlYl Ga@IEH06MIBE EHIMMR.@SGM 5M gEaMIg aldWenjoud

60° camdemo6mi@d @6eng. A man observes the top of a building at an angle of elevation 45°, after walking 5m forward ,
the same is viewed at 60°

30. 6m oWEYSs 8@ 6SAlEaneM GaldTYOM PB8. H@MAILERSRYSS H:GloflealerIT] BB Oale@IUlal meﬂ_«%
oHslolelesmm. HA oo 30°, 50° emoeme:ud allm. osnerossme. A telephone post 6m heigh is tied up with
rope to two rods on ground on either side. Rope makes angles 30° and 50° with the ground.

31. 10 pgss 8@ sadle® gesladmlme emoeam 1.5m owegss BeIWBEEIW B:selloal daj@d 50° slegoelad
#6ng. A man having 1.5m height is standing on the top of a tower and observes a ship in the sea at an angle of
depression 50°

32.0bserve the following figures and answer the questions.

D
C
A
Q B
> B
P A B c b
A
A ND  p D
C
P
Q A
B c 5 B

a) AP=5cm, BQ=4cm, RC=6¢m, SD=3cm. ag@l@d 21@@c2.ABCD @6sajgsal ag@? Find perimeter of the

rectangle from figure .

b). all@oml@d <C =42°. ag)ssl@d <AOB , <OAB , <OBA &o6mos Find these angles.

¢). al@omil@d AB aloauaoem’. <ADC =42°. a)@l@d @les06me ABC Qe)s eoemddesa)de $:06Med.In figure
AB is the diameter. Find all angles of triangle ABC.

d). all@oml@d <B = 40° ageslad , <DCQ = 50°. <ADC ,<PDC ,<BAD #&o6mes Find the angles.




e).2l@omilwd <AOB = 42° ag)s@d @lee06me PAB @6s e&06mse8810e &o6mdé».Find all angles of triangle
PAB.
f). all@oolod <BDC = 40°, <DBC = 60° agesl@d <BCD o6, Find that angle.
9). all@ol@d B agam enilizailgjepsqes emogaue@oasne PQ . <ABP = 40°, <CBQ = 60°.ag)ssldd
@les06mMoe ABC @6)S GH:06Mmde88J00 &06Mods. In figure a tangent is drawn through the point B. Find al
angles of triangle ABC

mldmlole ud(constructions)
33. (-1-4) , (6-4) , (4,3) , (-3,3) agam enll3enud cosdlaflal ce)'l§cm 2I®BEMo AU, Draw a
quadrilateral with co-ordinates of the vertices as given above.
34.(-5,0) , (0,-5) , (5,0) , (0,5) agaml enilozend caomdlallal CB;]%CTD 2I®BEWo QEERS. Draw a quadrilateral
with co-ordinates of the vertices as given above.
35.4cm @pEQSs B3@3 (YOo QUS> .
a) aleMY@o RloENINIQ EENE ENIEMO:UY QP 4], GPAIRES GRW)EEBRSITd H@IFNURH:UY AUCERBD:.
b) e @@OI@ I’ 7cm @o@:62I1Qes 8@ MImAl@mIMEs HmISAUEB@UO,] 8o ERSOMED .
35).Draw a circle of radius 4cm.
a)Draw two perpendicular chords. draw tangents at their end points
b)Mark a point 7cm away from centre and draw tangents from there.
36. 4cm @GREYSsS B YO Mo QURERH.
a) @R@I®3 WBIBaHEBRUE UMMM AWM ¢HHMBU3 50° ,60° AllmYes B@ @IEBI6MMIdaEBS:.
( RO @Yo 4CM,ed06MBu3 50° ,60° @GRY®AIW BT (@IEHIEMMIBEBS)
b) Qiseeanud @o@IleHMm VAUl BB @6’ cHoem:ud 50°, 60° allm. 988 B@3 (@IEH6Mo QU@L
(@RORYDDD @RY®o 4CM,eE:06Mm 03 50° ,60° EHW®RIW BT (@IEE06MoMIB2RERH:)
36)Draw a circle of radius 4cm.
a)Draw a triangle whose vertices are on it and two angles being 50° ,60°%(Draw a triangle with two angles
50°,60° and radius of circumcircle 4cm.)
b)Draw a triangle whose sides touch it and two angles being 50° ,60°%(Draw a triangle with two angles 50°
,60° and radius of in-circle 3.5cm.)
37.8@ em06m 70° , @AYo @Ryo 4Cm (GT@@'I%QQ BloeNidho QUEER. Draw a rhombus of one angle
70° and radius of incircle 4cm.
38. alsq allole 6cm,4cm 988 BT 2@ UEERH:.
a)@neo allmildemyss «;T@@'I%QQ VD 2IDE0 QUOEBS.
b) @RE® alGa80jo aMOTB B@AIGe 7CM ERLISSES 2I®@o QAUOLBH.
C) @RED alPalS0j af)MITB BEBAUCe 3CM CRHWVISES @@ AUCMRH.
38.Draw a rectangle of measures 6¢cm , 4cm.

a)Draw a square of same area.




b)Draw a rectangle of same area, and length 7cm.

c)Draw a rectangle of same area , and length 3cm.

39. V6 cm dlsgss a8 Qe QIeEsH:.

a) 3V6 cm 2JO8NI8S TLOEB(BIEHIEMo QIRERS:.

b) 6 cm? allmJldemgss MV I®®Ee QIELBE:

39.Draw a line of length V6 cm.

a) Draw an equilateral triangle of perimeter 3v6 cm.

b) Draw a square of area 6 cm?

40. 21 a1 .eqv. dl allmildemgss muaa®e. AlesRs. Draw a square of area 21 sg.cm
41. QeBRU3 4cm, 6cm , DSBS 606 60° O88 (@IEHI6Mo QAUCEBS:.

a) @PEM AlEABSS D0 QUGB

b) @RE® AleASAISS TVALID®@e QI@LBH:.

C) GRODBYOTDo QUSRI D>.

41.Draw a triangle of of measures two sides 4cm, 6cm and angle between them 60°
a)Draw a rectangle same area

b)Draw a square of same area

c)Draw in-circle

42.23.4,32.4,43.2,24.3, 34.2, 42.3 Find median

43.Find median

Age 17 23 29 35 41

Number 20 21 24 25 31
44.Find median

weight 14 - 20 20-26 26-32 32-38 38-44

number 20 21 24 25 31
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